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r.) lb. at Hi'.

I
6 IV). at 14c.

I 4 lb. at ni-.

1 6 11). at 14c.

1). of brown Hu^'ll^.

Now with pviMV cent 'jain lie must (onibino a cunt /uii

I.eiice he must havi'

1 lb. at He.

J lb. at 14c,

J lb. at ilc,

ill), at 14c

He must, tharofore, have :i lb. of brown Hu^'a^, 4 lb. New

Orli'ans, and 12 lb. refined.

We may show that these quantities will make the niixtuie

recjuired, aa follows :

3 lb. at 8c. |)er lb. = 24c.

4 lb. at 9c. " = 36c.

12 11). at 14c. " =16Rc.

19 lb. = whole mixture. 228c. = value of iiiixturc.

Hence, if 1!) lb. be worth 228c.

1 lb. is worth ",»" = ' 2c.

Or we may reason thus: The le. (jaiui'd on the J
11). of

brown exactly balances the Ic. IokI on the \ lb. of the refiiuil.

Hence he must take J
lb. of the brown anil 1 II). of the

refined, or 2 lb. of one and 4 lb. of the other.

Similarly, for eveiy 2 lb. of New Orleans there must !«

3 lb. of refined. As 4 lb. of refined were re<|uiied to l)iilaT)c,.

the \)T-own, and ;{ lb. of the refined to balance the Ni-w Oi-leioiN

there must be 7 lb. of the refined in the compound. Tberefoiv.

the respective iiuantities are 2 lb. brown, -' lb. New Orleans,

and 7 lb. refined.

From the above we see that in examples of this kind

variety of answers may fivquently be olitaiued, aiul all .ii

them may Ix' correct. To ascertain theii- coiivctness «,

resort to the method of i)r()of given in this exaii)|.lc.

From the alx)ve analysis we derive an easy practical meth"U

of solving such questions.

A'..-. ,.'. How much susarat 10, 1 :!, !•'), 17 and l.<c. IXT pou^ '

must be taken to make a mixture worth Uic. pci- pound !


